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●Spearman's rho:

   R=0.414

   p=0.000168
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●Spearman's rho:

   R=−0.065
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●Spearman's rho:

   R=0.151

   p=0.184
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●Spearman's rho:

   R=0.05

   p=0.664
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●Spearman's rho:

   R=0.181

   p=0.11
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Spearman's rho:

   R=−0.106
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Spearman's rho:

   R=0.156

   p=0.00157
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Spearman's rho:

   R=0.284

   p=5.55e−09
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Spearman's rho:

   R=0.19

   p=0.000121
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Spearman's rho:

  R=0.115

   p=0.0204
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Spearman's rho:

   R=0.254

   p=2.33e−07
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Spearman's rho:

   R=−0.189

   p=2.96e−10
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Spearman's rho:

 R=−0.124

   p=3.99e−05
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Spearman's rho:

   R=−0.064

   p=0.0336
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Spearman's rho:

   R=−0.165

   p=4e−08
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Spearman's rho:

   R=0.031

   p=0.298
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   R=−0.214

   p=9.17e−13

B_cell CD4_Tcell CD8_Tcell Timer_Neutrophil Timer_Macrophage Dendritic

0.0 0.5 1.0 1.5 2.0 0.0 0.5 1.0 1.5 2.0 0.0 0.5 1.0 0.00 0.25 0.50 0.75 0.0 0.3 0.6 0.9 1.2 0 1 2 3

0

4

8

12

Timer Database score

lo
g2

(I
G

F
1R

 T
P

M
+

1)

BRCA



●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●●
●

●
●

●

●

●

●
●

●

●

●
●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●
●

●

● ●
●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●
●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●
●

●

●

●

●●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●
●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●
●●

● ●

●
●

●

●

●

●

●

●

Spearman's rho:

   R=−0.241

   p=2.06e−05
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Spearman's rho:

   R=0.001

   p=0.982
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Spearman's rho:

   R=−0.121

   p=0.0341
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Spearman's rho:

   R=−0.037

   p=0.521
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Spearman's rho:

   R=−0.063
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Spearman's rho:

   R=0.042

   p=0.466

B_cell CD4_Tcell CD8_Tcell Timer_Neutrophil Timer_Macrophage Dendritic

0.0 0.1 0.2 0.3 0.4 0.0 0.1 0.2 0.3 0.4 0.0 0.5 1.0 1.5 0.0 0.1 0.2 0.3 0.0 0.1 0.2 0.3 0.0 0.5 1.0 1.5

2

4

6

Timer Database score

lo
g2

(I
G

F
1R

 T
P

M
+

1)

CESC



●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●●

●
●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

Spearman's rho:

   R=0.426

   p=0.0101
●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●●

●
●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

Spearman's rho:

   R=0.521

   p=0.00131
●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●●

●
●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

Spearman's rho:

   R=0.177

   p=0.3
●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●●

●
●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

Spearman's rho:

   R=0.563

   p=0.00044
●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

● ●

●
●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

Spearman's rho:

   R=0.303

   p=0.0728
●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●●

●
●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

Spearman's rho:

   R=0.39

   p=0.0193

B_cell CD4_Tcell CD8_Tcell Timer_Neutrophil Timer_Macrophage Dendritic

0.0 0.1 0.2 0.3 0.00 0.05 0.10 0.15 0.20 0.00 0.05 0.10 0.15 0.200.000 0.025 0.050 0.075 0.00 0.01 0.02 0.03 0.04 0.05 0.0 0.2 0.4 0.6

0

2

4

6

Timer Database score

lo
g2

(I
G

F
1R

 T
P

M
+

1)

CHOL



●

● ●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●
●

●

●
●

●

●

●

●
●

●

●
●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●
●

●●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●
● ●

●
●

●●
●

●

●

●

●

●

●
●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

● ●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●●

●

●

●
● ●

●

●

●

●

●

●●

●

●

●
●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●●●

●

●

●●

●

●

●
●

●

●

●

● ●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●
●

●

●

●

●
●

●

●

●

●

●

●

●

●●●

●
●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●
●

●

●

●

●
●

●

●

●●
●

●

●

●

●●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●●
●

●

●
●

●

●

●
●

●

●

●
●

●

●

●

●●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●
●

●

● ●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●
●

●

●

●

●

●

●

●
●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

Spearman's rho:

   R=0.054

  p=0.249
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Spearman's rho:

   R=0.388

   p=5.98e−18
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Spearman's rho:

   R=0.119

   p=0.0107
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Spearman's rho:

   R=0.23

   p=6.88e−07
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   R=0.274

   p=2.59e−09
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   p=0.0567
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Spearman's rho:

   R=−0.078
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Spearman's rho:

   R=0.013

   p=0.87
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Spearman's rho:

   R=−0.016

   p=0.725
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Spearman's rho:

   R=0.228

   p=2.8e−07
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Spearman's rho:

   R=−0.134

  p=0.00279
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Spearman's rho:

   R=0.032

   p=0.473
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Spearman's rho:

   R=0.088

   p=0.0498
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Spearman's rho:

   R=0.097

   p=0.0307
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Spearman's rho:

   R=0.083

  p=0.0562
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   R=0.215

  p=5.92e−07
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Spearman's rho:

   R=0.009

   p=0.83
●

●

● ●
●

●

●

●
●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●
● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●
●

●

●

●

●

●●

●

●

●
● ●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

● ● ●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●● ●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●
●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●
●

●
●

●

●

●

●

●●

●

●●

●

●

●

●

●

●

●

●

●

●

●

● ●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●
●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●
●

●

●

●●

●

●

●

●

●

●

●

●

●●

●
●

●

●●
●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●
●

●

●

●

●
●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●●
●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●
●

●

●

●

●

●

●

●
●

●

● ●
●●

●

●

●

●

●

●

●

●

●

●

●

●

Spearman's rho:
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Spearman's rho:

   R=0.262

   p=8.23e−10
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Spearman's rho:

   R=0.007

  p=0.911
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Spearman's rho:

   R=0.003

   p=0.959
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Spearman's rho:

   R=−0.04

   p=0.499
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Spearman's rho:
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Spearman's rho:
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Spearman's rho:
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Spearman's rho:

   R=−0.123

   p=0.00494
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Spearman's rho:

   R=−0.066

   p=0.128
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Spearman's rho:

   R=−0.132

   p=0.00255
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Spearman's rho:

   R=0.345

   p=9.98e−12
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Spearman's rho:

   R=0.574

   p=0

●

●

●

●

● ●

●

●

●●●●

●

●
●

●

●

●

●

●

●
●

●

●

●

●

●●

●

●
●

●
●
●
●

●

●

●

●

●
●

●

●

●

●●

●

●

● ●
●●

●

●

●

●

●

●

●

●

●

●●●

●

●
●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●
●●
●

●
●●

●

●

●

●

●

●

●

●

●

●

●
●●
●

●●

● ●

●
●

●

●

●

●

●●

●
●

●

●

●

●

●

●●

●

●

●

●●●

●

●
●

●

●

●

●
●●

●

●

●●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●
●●
●

●

●

●

●

●●
●

●

●

●

●

●
●●

●

●

●

●

●

●●

●

●
●

●

●

●

●

●

●

●

●

●

●
● ●

●

●

●

●●●

●

●
●

●

●

●

●

●●

●
●

●●
● ●
●●●

●

●

●

●

●

●
●

●

●
●

●● ●●

●

●

●
●

●

●

●
●

●●●

●

●●

●

●

●

●●
●

●
●

●

●

●●

●

●

●

●

●

●●

●

●
●

●

●

●●
●

●

●

●

●

●

●

●

●
●
●

●

●

●

●

●

●

●
●
●

●●

●

●

●

●
●
●

●

●

●

●●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●
●

●●

●

●

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●●
●

●

●

●

●
●

●

Spearman's rho:

   R=0.337

   p=3.14e−11
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Spearman's rho:

   R=0.472

   p=0
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Spearman's rho:

   R=0.524

   p=9.51e−28
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Spearman's rho:

   R=0.501

   p=0
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Spearman's rho:

   R=−0.165

 p=0.00018
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Spearman's rho:

   R=−0.004

   p=0.925
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Spearman's rho:

   R=−0.054

   p=0.228
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Spearman's rho:

   R=−0.041

   p=0.358

●●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●
● ● ●

●

●

●

●

● ●

●

●

●

●

●

●

●●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

● ●●
●

●

●

●

●

●

●
●

●

●

●
●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●
●
●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

● ●

●

●
●

●

●

●
●

●

●
●
●

●

●

●

●

●

●

●

●

●

●

●

●●
●

●

●

●
●

●
●

●●●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

● ●
●

●

●

●

●
●

●

●

●

●

● ●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●
●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●
●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●
●
● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

Spearman's rho:

   R=−0.029

   p=0.507
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   R=−0.123
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Spearman's rho:

   R=−0.169

   p=0.000143
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Spearman's rho:

   R=0.053

  p=0.233
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Spearman's rho:

   R=−0.119

   p=0.00745
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Spearman's rho:

   R=−0.112

   p=0.0124
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Spearman's rho:

   R=−0.033

   p=0.465
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Spearman's rho:

   R=−0.089

   p=0.0468
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Spearman's rho:

   R=0.182
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   p=0.0711

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

● ●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

Spearman's rho:

   R=0.173
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Spearman's rho:

   R=−0.273

   p=0.0116
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Spearman's rho:

   R=0.203

   p=0.063
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Spearman's rho:

   R=−0.015
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Spearman's rho:

   R=−0.042

   p=0.417
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Spearman's rho:

   R=−0.091

   p=0.0805
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Spearman's rho:

   R=−0.073

   p=0.161
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Spearman's rho:

   R=−0.111
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Spearman's rho:

   R=0.046

   p=0.377
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   R=0.133

   p=0.0757
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Spearman's rho:

   R=0.467

   p=6.92e−11
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Spearman's rho:

   R=0.396

   p=5.8e−08
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Spearman's rho:

   R=0.541

   p=6.35e−15
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Spearman's rho:

   R=0.263

   p=0.000338
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Spearman's rho:

   R=−0.114

   p=0.126
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Spearman's rho:

   R=−0.189

   p=0.0105
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Spearman's rho:

   R=0.045

   p=0.543
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Spearman's rho:

   R=0.148

   p=0.0451
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Spearman's rho:

   R=0.009

   p=0.908
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Spearman's rho:

  R=0.106

   p=0.0183
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Spearman's rho:

   R=−0.169

   p=0.000161

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●
●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●●

●

●
●

●

●
●

●

●

●

●

●

●

●●●

●

●

●
●

●

●

●

●

●

●

●

●●●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●
●

●

●

●

●●

●

●

●

●

●

●

●

●

●
●

●

●

●

●
●

● ●

●

●

●

●

●●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●
●

●

●

●

●

●●

●
●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●●

● ●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●
●

●

●

●

●

●
●

●●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●
●

●

●

●

● ●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
● ●

●

●

●
●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●
●

●

●
●

●●

●

●

●

●

●

●

●
●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●
● ●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●
●

●

●

●

Spearman's rho:

   R=0.378

   p=2.49e−18
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Spearman's rho:

   R=0.118

   p=0.0084
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Spearman's rho:

   R=0.188

   p=2.42e−05
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Spearman's rho:

   R=0.154

   p=0.0471
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Spearman's rho:

   R=−0.037

   p=0.555

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●
●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●●●

●

●

●

●

●

●

●

●

●
●

●

●

●
●

●

●

●

●
●

●

●

●
●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●●

●●
●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

● ●

●

● ●

●

●

●●

●

●

●

●

●
●

● ●

●
●

●

●

●

●

●
●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●
●●

●

●

●●

●

●

Spearman's rho:

   R=−0.425

  p=1.21e−12

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●
●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●● ●

●

●

●

●

●

●

●

●

●
●

●

●

●
●
●

●

●

●
●

●

●

●
●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

● ●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●●

●●
●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●●

●

● ●

●

●

● ●

●

●

●

●

●
●
●●

●
●

●

●

●

●

●
●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●
●●

●

●

●●

●

●

Spearman's rho:

   R=−0.024

   p=0.704
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Spearman's rho:

   R=−0.227

   p=0.000252
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Spearman's rho:

   R=−0.385

   p=1.58e−10
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   R=−0.297

   p=1.43e−06
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Spearman's rho:

   R=−0.093

   p=0.0437
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Spearman's rho:

   R=−0.05

   p=0.281
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Spearman's rho:

   R=−0.097

   p=0.0354
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Spearman's rho:

   R=−0.094

   p=0.0423
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Spearman's rho:

   R=−0.038

   p=0.416
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Spearman's rho:

   R=−0.19

   p=3.56e−05
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Spearman's rho:

   R=0.052

   p=0.318
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Spearman's rho:

   R=0.24

   p=3.56e−06
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Spearman's rho:

   R=−0.065

   p=0.215
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Spearman's rho:

   R=0.017

   p=0.833
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   R=0.083
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Spearman's rho:

   R=0.5

   p=2.49e−33
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Spearman's rho:

   R=0.615

   p=0
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Spearman's rho:

   R=−0.508

   p=1.44e−34
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Spearman's rho:

   R=0.287

   p=5.44e−11
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Spearman's rho:

   R=0.448

   p=2.3e−26
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Spearman's rho:

   R=0.234

   p=1.15e−07
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Spearman's rho:

   R=−0.145

   p=0.116
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Spearman's rho:

   R=−0.553

   p=8.13e−11
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Spearman's rho:

   R=−0.221

   p=0.0162
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Spearman's rho:

   R=0.239

   p=0.00924
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Spearman's rho:

   R=−0.028

   p=0.759
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Spearman's rho:

   R=−0.406

   p=6.32e−06
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Spearman's rho:

   R=−0.113

   p=0.00843
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Spearman's rho:

   R=−0.111

   p=0.00976
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Spearman's rho:

   R=0.016

   p=0.703

●

●

●

●

● ●

●
●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

● ●
●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●
●

●

●

●
●

●

●

●

●

●

●
●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●
●

●

●

●

●

●

● ●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●
●

●

●
●

●●

●

●
●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

● ●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●
●

●
●

●

●

●

●

●

●

●

●
● ●

●

●

●

●

●

●

●

●
●

●●

●

●

●

●

●

●
●●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

● ●
●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

● ●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●
●

● ●

●

●

●

●
●

●

●

●

●

●

●
●

●

●

●●

●

●

●
●

●●

●

●

●

● ●

●

●

●
●

●

●

●

●

●

●

●
● ●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●●

●

●

●
●

●

●

●

●
●

●

●●
●

●

●

●
●

●

●

●●

●

●

●

●

●

●

●

●

●

●●

●

●

● ●

●

●

●

Spearman's rho:

   R=0.072

   p=0.0938
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